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Set up andl Solve Proportion Problems

Proportions can be used to solve ma "y
different types of problems. Be sure to read the
problem carefully and try to estbmate what o
reasonable answey Ls.

rRevwennlber, a proportion Ls an equation of
two vatios ana we should always write L ouy
units when we set up the problem.
Addltlomau@, make sure the untts milrror each
other on both stoles of the equation.

Example 1: Suppose Tache's car can travel 72
miles on 2 gallons of gas. How many miles
can Tache’s car travel on 12 gallons?

we flrst begin by setting up the proportion.
Notice how the wnlts mlrvor each other on both

sides of the equation.

miles miles
oallons — ogallons
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Since we are belng asked to fina out how
many wiles Tache's car can travel, we Let our
variable X vepresent these unkmnown miles.
Because these unknown miles corvespond with
12 gallons, we can set up our flrst ratio on the
Left side of the proportion.

X miles mLles
12 gallons — ogallons

Ow the right hand side of the equation we
WLLL wrtke L owr glvew ratio. Notiee that the
problem tells us that the car can travel 72
miles on 3 gallons of gas. This Ls our glven
ratio. Writing these quantities on the right
siole of the equation completes the setup of our
Droportion.

x wmiles  F2 wlles
12 gallons 2 gallons

We now solve the proportion for x.

X _ 72
12~ =
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We begin by flrst cross-multiplying.

X _ T2
12~ 3
X S
12~ 3
BX =K64
2X =864
= =
X =LKL

rRecall that we Let represent the unrmnown
qua Wclt@ L units of miles.

we finally answer the question with a
covplete sentence!

Answer: Tache’s car can travel 288 miles
on 12 gallons of gas.

Poge 3 of 7




Algebra2go®

Page 4 of 7

Example 2: A recipe calls for 5 cups of sugar
for 20 servings. How many cups of sugar are
needed to make € servings?

X CUPS CUPS
20 servings  senilngs
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Exampte 3: On a travel mop, 1 Leh represents

75 Rilometers. (f the wmeasured distance

betweewn two cltles 1s 4.5 Lnehes on the /LOP,
whot Ls the actual distawnce between the two

cltles L Rilometers?

4.5 Lnches

1 Lunehes

X ellometers — 75 kilomteters




Algebra2go®

Page & of 7

Example 4: At 2 PM. Maria’s shadow Ls € ft
Long and she s 5 ft tall. (f at this same time,
the flag pole casts a shadow that is €.4 feet
Long, how tall is the flag pole?

=
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Example 5: The standaro wide screen wide ratio
LS 16:9, width to hetght. A new wovie theatre Ls
being constructed with 4 different screen sizes.
FLLL L the missing dimensions tn the table
below. Use proportions to flmal the missing
Lengths.

16:9 wide screen format dimensions
e

Width in feet Height in feet

32
40

36
45




